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1. WM i 5 g 7w gl aft =i 4. afs i x2 +kx+1=0F gal & = H
U G S ¥ e FEd 8 6 SH x, y Th- IR ged: V5 W FA T, Wl k227, 9 k
T A grEfEd § 9 e 9 oGl A T | fopg 2TqUe 1 RIS EEd B wRAl 87

faa gom e Frafafaa § @ -1 wd ?7

(@) (-3, -2]U[2, 3
(a) 8 TR TH god g B

b) (-3, 3
(b) TR WY Tged 6 8, b wHiE | B )

TEhTHH B © [-3,-2u[2, 3
(c) ¥ "y wufha Td 7, Af wEged | (@) < @ P T

HHTE B

(d)'wwawqﬁ%,éﬁwm@wa

i 2 5. ¢ @il x2 + px +q = 0% HaI 6l AT
H@%Gﬁmx2+lx+m=0%3ﬂ§ﬁw
2, @ Frefafea 7 & S9-w wd 77
2. A s T '

A=1l, 2, 8 4, 5,6, 7 8,9, 10

2, @ A % syEg=Er B we, e € de

(@ p?m=13%g

FUE &, 187 (b) m?p=1g
(@) 45 (c) m?p=q*l
(b) 120 (d m2p2:12q '
¢ 165
(d) 330 . i
& [flﬁ-z\/ﬁ} +(—1rh/§J ’ & n, 3
’ 2 2
3. i2n +I-2n-i—l+i2n+2+i2n+3, a’{f iﬂ‘\/—*_l Eﬁ'ﬁ[qﬁﬁ%aﬂil=ﬁ%,mmw%?
2, 1 I 1 R?
(a) 1
(@) O
=
b 1 (b)
(0 i el ¥
(d) —i (d -1
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1. Let S be the set of all persons living in
Delhi. We say that x, yin S are related
if they were born in Delhi on the
same day. Which one of the following is
correct?

(a) The relation is an equivalent
relation

(b} The relation is not reflexive but it is
symmetric and transitive

(c) The relation is not symmetric but it
is reflexive and transitive

(d) The relation is not transitive but it
is reflexive and symmetric

2. LetA={1,2,3,4,5,6,7,8,9, 10}. Then
the number of subsets of A containing
two or three elements is

(@) 45
(b) 120
(c) 165
(d 330

’

3. The value of i2" +i2n+1 . 2n+2  ;2n+3
where i =+/-1, is

(@ 0
(b) 1
(¢) i
(@ -i

GRS-S-FDE/70A

4. If the difference between the roots of the
equation x2 +kx+1=0 is strictly less
than /5, where | k|22, then k can be
any element of the interval
(@@ (-3, -2JU2, 3
(b) (-3, 3
(¢ [-3,-2U2, 3
(d) None of the above

5. If the roots of the equation 224 px+g=0
are in the same ratio as those of the

equation x? +Ix+m=0, then which

one of the following is correct?
(@) p?m=13%g
(b) m?p=12g
() m?p=q?l

(d) m2p2 - 126}'

6. The value of

T Ak [FL1=i/E)"
)

where n is not a multiple of 3 and

i=+-1, is

(@) 1
(b) -1
(©) i
(d) —i

[ P.T.O.
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7. %% 1, 2 9 3 ¥ dFH-7hE = 3 YHR
S TS ¥ T 3% Seuy TE MY Bl 3 YR
H PH-2hy gEel &1 A frgs SR '7

(@ 1233
(b) 1322
(€ 1323

(d) 1332

8. %1 0.3+0-33+0-333+... % n TSl 1 I

Torereh ST 37

o i)
)
" % Hn_g[l_ 1;” )
)

9. AR 1, o, 0> HE (FAR) F T 3, @
1+ o)1+ 0?)(1+ o)1 +0+0?)
Tereeh TR 27
(a) -2
(b) -1
() ©

(d) 2
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10. IR U AR A AP) F mE H AT n g d

nq‘cﬁ?ﬁﬂ"mm%,?ﬁ(m+n)qa$l?fm
Torgeh wITsR &7

(a) ‘mn
(b) m+n
{c) 2(m+n)

(d) —(m+n)

1+2i
{1 =if)>
&, SHU:

% W 9 G&A HIVITH

@ 1,0
(b) 1,1
c 2,0

d 2,1

12. IR T fEda sgue 1 sTerE arguid: x-31E

% o fer 3, @ frafafea # @ s@-a1 9
87

(@) SH T IS &
(b) T TS Ao 9 TH A
(c) 3 € U afi 8

(d) el RIS Fehdl
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7. Three-digit numbers are formed from the

digits 1, 2 and 3 in such a way that the
digits are not repeated. What is the sum
of such three-digit numbers?

(@ 1233
(b) 1322
(c) 1323
(d) 1332

8. What is the sum of the series

9.

If 1, o, o

0-3+0:-33+0:333 +... n terms?
_ ¢ 3]
a —|n-=-|1-
o g g

o 23]

()

| =
=
I
W=
P
—
|
it
a1l FAEN
=
.

(d) %n—i(1+ 1 J_

2 are the cube roots of unity,

then (1+w)(1+0?)(1+0%)(1+0+0?) is

equal to
(@) -2
&) =1
¢ O

d 2
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10. If the sum of m terms of an AP is n and
the sum of n terms is m, then the sum of
(m+n) terms is

(@) mn
(b) m+n
{c) 2(m+n)

(d) —(m+n)

11. The modulus and principal argument of
the complex number

1+2i
1-(1-7)2

are respectively

(@ 1,0
() 1,1
c) 2,0
d 2,1
12. If the graph of a quadratic polynomial lies

entirely above x-axis, then which one of
the following is correct?

(@)
(b)

(c)
(d)

Both the roots are real

One root is real and the other is
complex

Both the roots are complex

Cannot say

[ P.T.O.
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13. AR |z+4 |<3 %, @ |z+1| F Afeekan 74 16. G x2 + bx+c=0 (W& b 3N ¢ X
ERI B) % Tl 1 I A6 1 o6 IeHAl h AT
s 3, A L, b, S e Aoh # §7
(aj O ¢ b
(b) 4 (a) AP
c) 6 (b) GP
(d) 10 (c) HP
(d) I T FE T
14. G 22 = 2z % HEl G fha 27
(@ 2 17. G0 ax? + x+c=0 (& a IR ¢ Y[R
) % Tl = A Ik T % YA 6 A
(b) 3 TR R, @ a, ca?, c2 forg aoft 7§ €7
&, (@) AP
(d) =[A (b) GP
(c) HP
15. Iy g x2 +bx+c=0, & b#0, & ,
Hd coto 9 cotf g, @ cot (@ +p) e (d) @ﬂ?ﬁﬁ@lﬁﬁqﬁ
TR 87
(@) f’mlf)i 18. [C(7, 0+ C(7, 1] +[C(7, )+ C(7, 2)]
et G, 6] . [T 7]
) forern s &7
b
(@) 254
b
o e (b) 255
(c) 256
{d) _b-

1ot (d) 257

GRS-S-FDE/70A 6
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13. If |z+4|< 3, then the maximum value of 16. The sum of the roots of the equation

|z + 1] is x2 +bx+c=0 (where b and c¢ are
non-zero) is equal to the sum of the

(@) 0O reciprocals of their squares. Then
—1, b, € are in

(b) 4 c b
(a) AP

" {c) 6

(b) GP

(d) 10 |

. (c) HP

14. The number of roots of the equation (d) ‘Nome, of the ehave

z% =27 is
17. The sum of the roots of the equation

2 =
(@ 2 ax“ +x+c=0 (where a and ¢ are

non-zero) is equal to the sum of the
reciprocals of their squares. Then

b} 3 .
() a, ca’, ¢? are in

) 4 (a) AP
(d) zero (b) GP
(c) HP

15. If cota and cotf are the roots of the
equation x? + bx +c = 0 with b # 0, then (d)
the value of cot (o +p) is

None of the above

18. The value of

0
|
—

@ — [C(7, 0)+ C(7, 1)] + [C(7, 1)+ C(7, 2)]
+...+[C(7, 6)+C(7, 7)]
(b) 1—;_‘: is
(a) 254
b
@ = (b) 255
(c) 256
1-o (d 257
GRS-S-FDE/70A 7 [P.T.O.
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19. W% ‘EQUATION’ % 9uif ¥ <HIT 5T Hehel a1 22. ot
ae ol % fafim wedl it wen w@n gl L. 8, 7. 158
TR STRE 9 379 T 49 A Bl 27 24 8 16
| F YUY n T2l 1 A TR SR RY
(@) 5200
(@) 2" -n-1
(b) 4320 (b) 1-27"
(¢) 3000 L
(d) %=1 :
(d) 2160
23. wg=El A9 B % gy 3 fefafas ® fem
i
20. n @ I THE GAR AR (AP), TSR AN L. Y@~ B)B=A
n? —on %, % qteat ug R e 87 2. (A-BJuA=A
3. (A-B)nB=¢
(@) 5 4, AcB=AuB=B
It § ¥ HHA-Y TR 87
(b) 7
(@ 1,2 33
(c) 8 (b) 2,334
(d) 15 (c) 1, 3 3R 4
(@ 1,2 3R 4 ,
21. B-iEm gt faem gemedt w1 9 frue s 24, T fg-amurd wefieo
®7 (1p101), +(10g1), = (1007 00),
‘ aﬁp,qarﬁ-aﬂmﬂﬁ%,ﬁp,qaﬁ“{r
i, 7o 3 W W g P S 37
{b) 2530 (@) 0,1,0
() 1,1,0
(c) 4905
() 0,0,1
(d) 5049 (d 1,0,1

GRS-S-FDE/70A 8
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19. The number of different words (eight-
letter words) ending and beginning with
a consonant which can be made out of
the letters of the word ‘EQUATION’ is

(@) 5200
(b) 4320
(c) 3000

(d) 2160

20. The fifth term of an AP of n terms,
whose sum is n? -2n, is

(@) 5
(b) 7
c) 8

{d) 15

21. The sum of all the two-digit odd numbers
is

(@) 2475
(b) 2530
(c 4905

(d) 5049
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22. The sum of the first n terms of the series

is equal to

fa) 2™ —n-1
(b) 1-27"

fc] 27" +n-1
(d) 2™ -1

23. Consider the following in respect of sets
A and B:

1. (A-B)uB=A

2. (A-B)JUA=A

3. (A-B)nB=¢

4, AcB=AuB=B

Which of the above are correct?
(a) 1,2 and 3

(b} 2, 3 and 4

fc) 1, 3 and 4

{d 1, 2 and 4

t

24, In the binary equation
(1p101), +(10g1), = (1007 00),

where p, g and r are binary digits, what
are the possible values of p, g and r
respectively?

(@ 0,1,0
() 1,1,0
(c) 0,0,1

(d) 1,0,1

[ P.T.O.
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25. AR S={x:x2 +1=0, x TEATH B, @ S 28. IR B UH Yorwlg =gy & IR A TH F

fopes T 27 AR B, M det (B AB) &1 WH ToFgsh stk
B
(@ 1}
(a) det(B)
(b) 0}
(b) det (A)
(¢ 1)
(¢) det (B
(d) T Fh g F
(d) det(A™)

26. (x-y)", n>5 & TER x F TG F FGE
(x L%:E?P %1E°x§aé ke~ 29. 9 a#b#c & A x & Th TH HE, A

T R, @ L forues e R7
Yy 0 x—-a x-b

x+a 0] xX—-c

(a) E—éé x+b x+c O
% HIE AT B, TR SRR 37
n-4
b =5~ (@ a
(b) b
5
9 o (© c
(d O ’
6
e
30. Afe
| cosa sin o
a 2 _{—sina cosorl
27. AR A:[z a] 3R det(A%)=125 %,
®, @ AAT TFoF SR ® (S&f AT, A =
@ o foFas =R 87 gitEd B)7
@ =i (@) T[A AR
(b) *+2 (b) TcEHE g
(€ £33 (c) A
(d) +5 [d) -A

GRS-S-FDE/70A 10
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25. If S={x: x2 +1=0, x is real}, then S is

(@ {13
(b) (0} (@)
(c) {1} (b)
' (d) an empty set (c)
(d)

26. The expansion of (x —y)", n>5 is done

in the descending powers of x. If the
sum of the fifth and sixth terms is zero,

then ~ is equal to

pPrepp
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28. If B is a non-singular matrix and A is
a square matrix,
det (B’IAB) is equal to

then the wvalue of

det (B)
det (4)

det (B7})

det (A7)

29, If a# b #c, then one value of x which
satisfies the equation

0 x—-a x-—-b
x+a 0 x-¢|=0
x+b x+c 0

is given by

y
n—-5
(a) e

(b) ”;4 (@)

(b)
5

€ — (c)

' (d)
n-5

30. If .

27. If A=[Z ﬂ and det(A%) = 125,

then o is equal to

a
b
c

0

P coso sino
| —sina. cosa

then what is AAT equal to (where AT is

the transpose of A)?

(a) £1 (@

a
(b) 2 (b)
fc) £3 (c)
@ £5 (@)

GRS-S-FDE/70A 11

Null matrix
Identity matrix
A

-A

[ P.T.O.
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31. GHE 34. AR
x+2y+3z=1
2x+y+3z=2
Sx+5y+9z=4
forer e % 7
(a) T AlGAE &4 8 R, @) Fefafga § @ <9-ar wd 27

Il
o

%« O

@ O =
o = @

(b) T IAA: IFH BA ©

(c) A 3dTE & (@) g,ﬁéﬁmﬂa‘tﬁa@%
(d) 394 T 8 Hg T

x+ty y 3 4
32. A=[ - x_y}, B={_2}eﬁ‘r{ c=[_2}

21afR AB=C®, 01 A? T ausr 27

(b) x, TS o ST H W TH B

(c) y, THS & 99 H ¥ TH B

(@) _44 _?EJ (d) 3; ~1 % el 7 ¥ T R
e ok
) g —16]
() [l w8 35. ®Ife (ATER) 3x3 F @l areggl, RFdH
& 12] yiafsai ae 0 1@ 1 %, % Ug=T A W
TR fomm ifstg| 7= <fifse f B, A %1 @& T y
(d) 812J Img=a & T 3 wfi smeg ¥ R

Frafet =1 7 1 2 ww g ¢, A W
T UE Sueg=E § fs wdft ereEl %
33. WRiv (feefe) a1 o -1 ®, @ Frefofae # @
1 1 1 HI-H1 T 7

1 1+ xyz 1

1 1 1+xyz ) e

Topereh =T 27

(@ l+x+y+z (b) B3 & sea €, e 5 cF
(b) 2xyz

(0 x2y222 () A=BuC

(@) Bxtya® (d) BH, CR W I wa R

GRS-S-FDE/70A 12
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31. The equations
x+2y+3z=1
2x+y+3z=2

Sx+5y+9z=4

fa) have the unique solution
{b) have infinitely many solutions
fc) are inconsistent

{d) None of the above

3 4
32. A= vy ¥ . Bi= and C = :
x x-y =12 -2

If AB= C, then what is A% equal to?

(4 8
@ | 4 ~16:l

. [& =4

®) 8 —16]

g =8

© |4 12}

: -4 -8
@ | g 12}

33. What is the value of the determinant
1 1 1

1 14+ xyz 1 ?
1 1 1+ xyz
fa) 1+x+y+z
(b) 2xyz

(c) x2y222

(d) 2x?y?z>

GRS-S-FDE/70A 13
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x y O

34. If [0 x y|=0, then which one of the

y 0 x

following is correct?

(a) % is one of the cube roots of unity
y

(b) xis one of the cube roots of unity

(c) yis one of the cube roots of unity

(d) % is one of the cube roots of —1
Yy

Consider the set A of all matrices of order

3 x 3 with entries O or 1 only. Let B be
the subset of A consisting of all matrices
whose determinant is 1. Let C be the
subset of A consisting of all matrices
whose determinant is —1. Then which
one of the following is correct?

{a) ‘C is empty

(b) B has as many elements as C

fc) A=BuC

(d) Bhas thrice as many elements as C

[ P.T.O.
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36. 3fe A{COSQ Sine} g, @ A% o

~sin® cosH

R 87
" cos 36 sin 36
@ | _sin36 cos3e
(b) I cos® ® sin® 0
| —sin® 6 cos® 6

"cos 30 -sin 30
(c) | sin 30 cos 36

(d) {cos3 § -sind 8}

sin® ® cos® @

a h g||l x
37. x y 2| h b f |l y| ® ®MR (A

Lg f c]l=

w177

fa) 3x1

(b) 1x1

() 1x3

({d 3x3

1 @ i Pl I
(a) 0 1] (b} 0 o
0 0] . [0 17
(c) 11 (d) 1 o

GRS-S-FDE/70A
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39, HﬁsinA=§%,Glﬁ450°<A<540° R, T

cos%ﬁﬁﬂ%w%?

1

fa) ﬁ
3
(b) - 10
V3
© 1o
(d) S T | S T

, /3 Torerer s 27
sin 10° cos 10°

(@) O
(b) 1
c) 2

(d) 4

41. 100 m 9% % TH TR-TGFd & 39 ¥ Th
qE T HAGTHI-H tan'l[%) A 1 O I

TERTRI-EF o o9 <l gl Terat @7

(@) 120 m
(b) 180 m
(c/ 240 m

(d) 360 m
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36. If A= ok L L then what is 39. If sin A= ?—’, where 450°< A < 540°, then
—sin® cosH |’ 5
A% equal to? cosg— is equal to
[ cos 30 sin 30 1
(@ i —sin 36 cos 36 (a) ——m
B 3 3
. () co.s 39 sm39 B = 3
| —sin 6 cos” O 10
i [cos 386 -sin 36 {C) \[g
(c) | sin 30 cos 30 _ v10
- F osdB . B (d) None of the above
i sin® 0 cos® 6
40. What is — L .2 V3 equal to?
sin 10° cos 10°
37. What is the order of
a h gl|| x (P
X zl|lh b ?
[x y 2] Flly ) 1
g f c||l =z
c) 2
(a) 3x1 (c)
(b) 1x1 (@) 4
' fc) 1x3

41. From the top of a lighthouse, 100 m
(d 3x3 high, the angle of depression of a boat

is tan 1 (1—5)2] What is the distance

38. If A= [ o 1j| then the value of A% is between the boat and the lighthouse?
1 Op
(@) 120 m
(1 0] . 1 L]
@ o 1] ® o o] (b) 180 m
" L 2 fc) 240 m
) 0 0] (@ 01
e
|1 1] |1 0] (d) 360 m

GRS-S-FDE/70A 15 [ P.T.O.
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42, sin(x+gj+cos[x+—g-) &1 fteras A,

(o,g)%mﬁ,ﬁaﬁaﬁﬁmﬁm%?

T n
(a) E (b) g
T T
(c) = (d) 5

43. afs K= sin[lréj sin (EEJ sin (ZEJ 3,

18 18
@ K forges ser 27
1 1
(a) = (b) e
1 1
(c) : (d) £

44, sive S0 8N oo o 7
cosc. +cosp

{a) tan (OLQLB)

&

+BJ
>

(d) cos (oc * B]

{b) cot [

N

{c) sin

ey
Q
+
=

45, If% sinb = 3sin (0 + 2a) %, ar
tan (0 + o) + 2 tano 7 AH e ST 87
(@ -1 (b) O
fc) 1 (d) 2

GRS-S-FDE/70A
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46. tan 18° TrE® aUer 27

V5-1

f 10+2J/5

i

(b)

e
o
+

i

—
o
+

N
i

()

3

—
o
+

i

(d)

3

e
7
)

y, z YT AR HEA
W UHR 2 %5 9 GP # & 3R tanlyx,
tan_.ly A4l tan"lz @ AP ¥ %, a
FrfaRad d & SF-w1 98 87

@) x=y=z2
(b) xz=
(c) x#yﬁﬂy=z

{d) x=y3?R Yy#z

48, R tan(@+p)=2 3R tan@-P) =18, @
tan (20) ToFga s=R 37

(@) -3
(b) -2

1
(c) _5
(@ 1
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42. The maximum value of

Sles S ibaltid
sin|x+ = |+cos|x+—
i =0 6

in the interval (O, gj is attained at

T T

" fa) 12 (b) 5
b m

) (c) 5 _(d} E

43. If K= sin[ij sin (ET—E] sin [ﬁj , then
18 18
what is the value of K?

1 1
(a) 5 (b) —

1 1
¢ = (d) Tg

sinc, +sinfd

44. The expression
cosd +cosf

is equal to

) (b) cot [“ +b

fc) sin (

(d) cos [oc +B)

45, If sin® = 3sin(6 +20), then the value of
tan(® + o) + 2 tana is equal to

(@ -1 (b) O

€ 1 @d 2

GRS-S-FDE/70A
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46. What is the value of tan 18°?

V5-1

a) —

J10+24/5

{b} _[éi_
10++/5

@ ~ s

J10++5

(d) gy

47. Let x, y, z be positive real numbers

such that x, y, z are in GP and tan =1 X,

tan !y and tan"!z are in AP. Then

which one of the following is correct?
(a) x=y==z

(b) xz=1

(¢} x#yand y=z

({d} x=yand y+z

48. If tan(x +B) =2 and tan(o -f) =1, then
tan(20) is equal to

(g -3
(b) -2
1
(c) "3
(d) 1

[ P.T.O.
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49. By ABC % fau Fr=fafed © fomm Hifs - 52. T T, s sfd A1, v3), B0, 0) 3R
._(B+C A C(2, 0) %, &1 3T=:hx BATI
1s sm( 5 ]=cos(—)
| ¥3
2. tan[B;-CJ=cot[§) @) [1’ 2]

3. sin(B+C)=cosA

2 1
4. tan(B+C)=—cotA (®) (5’ ﬁ]
¥ 8 em-g 1
ITH wdl g o [2 Ej
(@) 133 3¢ 12
(b) 1312 |
1
© 134 & [1’ EJ
(d 2 3R 3
sa.ﬁ@m?@ﬁa%‘cﬁqmw'
50. Hfg secB—cosecG:% 2, @ (sin6 - cosH) (-2, - 1), (1, 0) 3 @, 3) &, 1 =Y ¥ =1
ﬁ%‘mﬁ' ?
Toress aTaR 37 T
(@) Hae -2 )
(b) e L @‘Lm
2 (c) (0, 0)
) _ 1
9 -2 =W (d (1,-1)
(d) 1 _
qfﬁfqﬁ 2 54. T 9d %2 py® = p2 3R
x?2+y?-10x+16=0 A fig fogal w
51. afs femelt fygst o1 @k o (1, 1) ® oft 3w il gfe=de A ¥, @ Frefafen 3 @ wH-m
A DR W aEh S ueel % meRe we B
(-1,2) 9 (3, 2) &, A Bisgs 1 S B0 Gl Bsree
i 7 7
@ (-33) o (LI (b) r-2wEE =8
3 o (c) r<?2
(c) [3’ 3) (@ (1’ 5] d r>2

GRS-S-FDE/70A 18
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49. Consider the following for triangle ABC:

; (B+C) [A)
1. sin| ——|=cos|—
2 2

2. tan(B'-i-C):cot[é]
2 2

3. sin(B+C)=cosA
4, tan(B+C)=-cotA

Which of the above are correct?

(@@ 1 and 3
(b) 1 and 2
fc) 1 and 4

(d) 2 and 3

4

50. If secO-cosecH = 3’ then what is

(sin® —cosB) equal to?

(a) -2 only

1
b) — onl
(0] 7 only
(¢) Both -2 and%

(d) Neither % fior —2

51. If a vertex of a triangle is (1, 1) and the
midpoints of two sides of the triangle
through this vertex are (-1, 2) and (3, 2),
then the centroid of the triangle is

W (53 (4]

0@ @)

GRS-S-FDE/70A
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52. The incentre of the triangle with vertices
A(l, ¥/3), B(0, 0) and C(2, 0) is

(2
g
o (55)
@ (139

53. If the three consecutive vertices of a
parallelogram are (-2, —1), (1, 0) and
(4, 3), then what are the coordinates of
the fourth vertex?

(@ (1, 2)
®) (1, 0)
© (0, 0)

@ (1, -1)

54. The 2

x? + y2 —-10x+16 =0 intersect at two

two circles x? + y2 =r and

distinct points. Then which one of the
following is correct?

(a) 2<r<8
(b) r=2o0rr=28
fc) r<2

d r>2

[ P.T.O.
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55. Uh T, S fag (3, -2) 3 (-2, 0) ¥ ‘M
W%aﬂ'{m%,Q@Qx—y—Ci:OT{
fedrg 2, 1wt @ 87

(@ x°+y®+3x+2=0
() x2+y?+3x+12y+2=0
(c) x2+y2+2x=0

[d) x2+y*>=5

56. 3 forgafl A(-2, -2) 3 BE, -4) F Sy
e Y@ B R c(—%,—%)%q
gaTa ¥ fsifera s 27
(@ 1:3
(b) 3:4
€ 1:2
(d) 2:3

57. T <egd, fmeh Ay (2, O)a'mawzl%,
1 FHERT -1 87

prepp
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58. TH itft W1, W 2x+3y+1=0% GAR 2 9
forg (-1, 2) 9 g It 2, o1 wefier < B9

(@)
(b)
(c)
(d)

59. Wld

2x+3y-4=0
2x+3y-5=0
x+y-1=0

3x-2y+7=0

@A F G 2x+/3y=1 3R

JAx + 3y = 2 % e § = w37

(@)

(b)

(c)

(d)

tan” (572

o (3)
tan~! (3)

tan 1 [

J

al~

x2

@ -+

64

(b)

y2

60

¢ —+==—=1

(d)

GRS-S-FDE/70A

60. dIfs & Bgs, s (7, x), (y, —6) 3R (9, 10) @

1 R, 1 HBEE (6,3) B, A x I y HEIA:
Toraer s 87

(@ 5,2
(b) 2,5
) 1,0

(d 0,0
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55. What is the equation of the circle which
passes through the points (3, -2) and
(-2, 0) and having its centre on the line
2x-y—-3=07?

(@ x2+y*>+3x+2=0
(b) x%+y? +3x+12y+2=0
() x%2+y*>+2x=0

d x2+y%=5

56. What is the ratio in which the point
2 20

C[?, - 7) divides the line joining the
points A(-2, —2) and B2, —4)?
@ 1:3
(b) 3:4
fc) 1:2
(d 2:3

57. What is the equation of the ellipse having
foci (£2, 0) and the eccentricity Zl?

x*
44L+.._.._—

@ &% 60

By E_pd =]

(c) Lo ]

(@ 4=

GRS-S-FDE/70A 21
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58. What is the equation of the straight line
parallel to 2x+3y+1=0 and passes
through the point (-1, 2)?
fa) 2x+3y-4=0
(b) 2x+3y-5=0

fc) x+y-1=0

(d) 3x-2y+7=0

59. What is the acute angle between the
pair of straight lines +2x ++/3y =1 and
N3x +2y=27?

o ()

(b) tan! [

=
S——

{c) tan~! (3)

(d) tan ! [

J

60. If the centroid of a triangle formed by
(7, x), (y, —6) and (9, 10) is (6, 3), then
the values of x and y are respectively

@l

(@) 5,2
(b) 2,5
¢ 1,0

(d 0,0

[P0,
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61. T e v, e g #E (0, 1, 0) @

(a) x-3& % FHIH 8

(b) y-3& % HHTR B

(c) z-3& F T B

(d) B A&l o S TR Gehl B3 &

62. (0, 0, 0), (@, 0, 0), (0, b, 0) 3R (0, 0, c) AR
fafim gl 21 39 forg &1 Féwrss, st 3 =@
forgall @ whamm g W 3, @ 37

—— 5

- A 3

a+b+c a+b+c a+b+c
(@)

_—

&
s o
wiQ
wls
Wi
N

63. g P(3, 2, 4), QW, 5,2, R(5, 8, 0) 3R
S@, -1, 6)

(a) %wﬂa,ﬁ@aﬁﬁ%,%qﬂﬁ~
frg ®

(b) FEHAAR §
() W@T
(d) wvaei B, foeg e = B

GRS-S-FDE/70A
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64. Frgel (1,2, - 1) 3R (3, — 1, 2 ¥ TERY TR
W1, yz-oadd ¥ Fefafea fogeti 4 9 few
W et 37

@ (o5 3)

033
-5 2]
(

w (053

(b)

(c)

65. F=fufaa # @ FR-6 w ff & sl W@
x=ay+b;, z=cy+d 3R x=ey+f;
z=gy+h?i3i%?

(a) aet+cg—1=0
(b) ae+bf -1=0
(c) ae+cg+1=0

(dl ag+ce+1=0

66. AR G=i-j+k, b=20+3j+2k 3N
3=f+m}+nﬁ?ﬁﬂﬁﬁ?ﬁﬁﬂﬁﬂ%3ﬁ1
1| = /6 &, o fifefaa § ¥ wH-a1 e o
27

(a) m=23Mn==+1
(b)) m=+23Mn=-1
(c) m=23%Rn=-1

(d m=+23Mn=1

al Exams Guide
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61. A straight line with direction cosines

(0, 1, 0) is

(a} parallel to x-axis
(b) parallel to y-axis
(c) parallel to z-axis

{d) equally inclined to all the axes

62. (0,0 0, (a, 0, 0), (0, b, O)and (0, O, c) are

four distinct points. What are the
coordinates of the point which is
equidistant from the four points?

(@) (a+g+c, a+:13:>+c, a+§+c]
(b) (@ b, c)

@ (53 3)

@ 5353

63. The points P(3, 2, 4), 0@, 5, 2), R(5, 8, 0)

and S(2, -1, 6) are

(a) vertices of a rhombus which is not
a square

(b) non-coplanar
(c) collinear

(d) coplanar but not collinear

GRS-S-FDE/70A
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64. The line passing through the points
(1,2,-1) and (3, -1,2) meets the
yz-plane at which one of the following

o o33
v (o)

o o33
A

65. Under which one of the following
conditions are the lines x=ay+b;
z=cy+d and x=ey+f; z=gy+h
perpendicular?

(a) ae+cg—1=0
(b) ae+bf-1=0
(c) ae+cg+1=0
(d ag+ce+1=0
- 2 A A =% 2 A A

66. If a=i-j+k, b=220+3j+2k and
- 2 a A
c=1i+mj+nk are three coplanar

vectors and |¢|=+/6, then which one of

the following is correct?
(@ m=2and n==+1
(b) m=x2 and n=-1
¢/ m=2and n=-1

(d)f m=t2and n=1

[ P.T.O.
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67. HH < & ABCD T waiet wigys & fesh 70. AR G =21 +3j+4k 3R b = 3 +2] - Ak 7@

_ — — —
qafeg 8, @ OA + OB + OC + OD T

- @ 2

(@) 2-61_3 (b) 3

(b) 40P (c) 4 .
() 60P i '
(d) 80P

X

71, B S0P X) e e &
x—=0 x2

68. ABCD UT& =gy~ & W&kl fa&hvl AC 3R BD
2| Frefafad § @ -1 w6 @8 27 (@ O

—_— == — —

(a) BA + CD = AC + DB

®
(5) BA + CD = BD + CA
{c) EX+EB=ZB+BB () 1
(d) BA + CD = BC + AD (d) 2 .
69. AR dxb =2 3R bxZ=a 3, a1 FrfiRad |
ﬁﬁaﬂq—mwﬂ’ﬁﬁ%? 9. 02 1+COSBWW%?
@ 25 ¢ 7 # wwEeha ¥ o
14| = €| @ |b| =1 (@) %
(b) @ b, ¢ TER a0 3
(c) & b, ¢ F# H wEwviE B, fEg i b
1a|¢|6’| 6 73
(@) -d, b, ¢ g § i 8, fag
bl#1 (d) 3w A FE

GRS-S-FDE/70A 24
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67. Let ABCD be a parallelogram whose
diagonals intersect at P and let O be the

. — —} — —
origin. What is OA + OB + OC + OD

equal to?

——

fa) 20P

——3

v (b) 40P
—

{c) 60P

-

(d) 80P

68. ABCD is a quadrilateral whose diagonals
are AC and BD. Which one of the
following is correct?

—_ —  —

—
(@ BA + CD = AC + DB

YT A == e —
(b) BA + CD = BD + CA
=) ) oy =
¢/ BA + CD = AC + BD

_ = = —
(d BA + CD = BC + AD

A L e .
69. Ifaxb =c and b x ¢ = a, then which one
of the following is correct?

i

—
c

(@ a,b,

|d|=|2| and |b|=1

are orthogonal in pairs and

I
(b) d, b, ¢ are non-orthogonal to each
other

(c) d,b,

._)
al#|

v

»

are orthogonal in pairs but

l

i
ey
¢

o =2 . .
(d) d, b, ¢ are orthogonal in pairs but

-
|b|#1

GRS-S-FDE/70A
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70. If @=2{+3j+4k and b =3 +2j-AKk
are perpendicular, then what is the
value of A?

(@) -2
(b) 3
(c) 4
(d 5

x —
What ds Tim S— 114
x—0 x

71. equal to?
(@ O

(b)

| SR

d 2

72. What is _[05 ul_ié equal to?
+cos

1
(a) 2

(b) 1
(c) 3

None of the above

(d)

[ P.T.O.
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foraer s ®7

73.
Ixu7+n

(a) 51 In

x" +1

(b) =In

(c) In

1
d —1In

x" +1

74, X I Y & HANM: T4 AFT % TAT Hed
F:X Y, flx)=cosx gr Fifea ¥, sl
x e X8, Teh 3R =a1Es gem?

(@ [0, m3M[-1,1 °

(b) [5 E}aﬂt[l 1]

(c) [0, m 3R (-1, 1)
(d) [0, m 3R [0, 1]

fla ?
75. 9 f(x) = — I%Jﬁ__———f(a“)%a%w%.

)

@ r(-

(b) fl(a?)

e

(d) f(-a)

GRS-S-FDE/70A
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76 J_(x61+ex l]d‘xmm%?

x€ +e*

x2

(a) 7+c

(b) In(x+e)+c

fc) In(x®+e*)+c

{d) L9 (x® +e*)+c
e

77. 94 e B fFi[-6,6) >R 3B, S fF

flx)=x2 -3 g ffga 2 F=fafes w
T i
L. (fsdm f)( D= fN

2 e fefil=4-4lf o f ¢ F)1)
=(f =N

IfE A | FH-/E ' R/

(a) Had 1

(b) A 2

(c) 1 3R 23 | )
(d @182

78. ﬂﬁ?ﬁﬁ'&%f(x)=px+q35ﬁ'{ gx)=mx+n

®, T £ (g(x) = g(f (x) e goa &7
(@) f(p)=g(m)
(b) fla)=gn)
(c) fn)=glq)
(@ f(m)=g(p)
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73. What is _ dx

=1 x-1
equal to? b P e Yy idx
x(x” +1) 76. What is _f L equal to?
1 v el 2
(@ =In te 2
2 x7 +1 (@) 5 tc
7
R ot s PR (b) In(x+e+c
7
e
(c) In(x®+eX)+c
{1
(c) 1n & 1 +c
7x 1
(d =In(x®+e¥)+c
e
7
@ 2l -2 ixe
i ¥ il

77. Let f:[-6,6] >R be defined by
flx) = x?2 - 3. Consider the following :
74. The function f:X—>Y defined by
f(x) = cos x, where x € X, is one-one and 1. (Fefef)-0=(fcfef))
onto if X and Y are respectively equal to
2. (foff)ED-4f-f N
=(f =)0

Which of the above is/are correct?

(@) [0, m] and [-1, 1]

T 7
(b) [ i 2}and[ 1, 1
(@) 1 only
(c) [0, m] and (-1, 1)
(b) 2 only

(d) [0, ] and [0, 1]
{c) Both 1 and 2

75. If f(x)=—L, then what is S (@)

i fla+)) (d) Neither 1 nor 2
equal to?
& 78. Let f(x)= px+qg and g(x)=mx+n. Then
(@) f['m) flg(x)) = glf(x)) is equivalent to
) fla? (@ f(p)=glm)
' (b) flg)=gm)
ik Jfl=
[‘J (c) f(n)=glq)
d) fl(-a) (@ f(m)=g(p)
GRS-S-FDE/70A 27 [ P.T.O.
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79. AR F(x) =v9-x2 &, @ 81. #H =iy

£ . X \_ﬂﬁx %
i £ . I AN
foraer s &7 =i .
g(x):{o' o R
(a) ___}__ X, Gl%TxGTCTF(ﬁ'ﬂ%
42 .
Tlﬁ_f:]R—)]RaﬂTg:]R—)]R%,?ﬁ(ffg)%
By & (@) THEH IR TR (I TS TR) '
2 (b) 7 T THE, T H ATEBEH
o (c) TF-TH IR A=BRH
22 (d) THH IR HArewED
(d) 5% 82. Th EHaH 3clrel il dwTg 1 7, TS held
f(x) = 3sinx -4sin® x
qgAH B7
80. 47Xty mo 37 (@) %
aZy:2
() -
2. \"1 -3 2
o {24
dx dx 3n
{c) -2—
-1
d?y) (dy\ 2 (d n
® [';x—z] e
83. AR xdy = y(dx + ydy); y{1)=13ﬂty(x)>0
. (dzy)(dyJ‘S R, A y(~ 3) foraeh =R &7
a2l [ S
dx? J\dx (@ 3
(b) 2
2 -1
(@ (d——é’-} @
dx (d) o

GRS-S-FDE/70A 28
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79. If F(x) = Jo-x2, then what is 81. Let
©_Fi x, Xxisrational
_ F-F( AR oS atipnal

and
equal to? 0, xisrational
gx): —_
X, X isirrational
(a) - If f:R—>Rand g: R >R, then (f - g)is
4+/2
. {a) one-one and into
(b) é (b) neither one-one nor onto
{c) many-one and onto
1
7y [ (d) one-one and onto
(c) W
82. What is the length of the longest interval
@ 1 in which the function
242 flx) = 3sinx - 4sin> x
is increasing?
80. What is &%
J at is — equal to? (a) —
dy 3
i
P ) =
@ (@J (2) ’ 2
2
s B ) =
2
-1
w [F2y) (d 2 (@) =
dx? ) \dx
83. If xdy=yldx+ ydy); y(1) =1and y(x) > 0,
‘ then what is y(-3) equal to?
d2y dy -3
o {2 @ 3
| (b) 2
-1
2 fc) 1
(@ [d 2y] :
2 (@) 0

GRS-S-FDE/70A 29 [ P.T.O.
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84. BeH f(x)=4sin?x+1 ® AUFA TH
F1 27

(@) 5
(b) 3
(c) 2

(d 1

85. UM T f(x), sin? x I Th AId GHTR
2l

Frefafiad wu ) fa=ar Fifs

e 1 :

W f(x) GgE BA B flx +m) = f(x) F,
gsfi arEafas x % fag)

%Y 2

sin?(x +m) = sin? x 8, Ot Irafo® x &
)

St el % wed § Frefafad § ¥ FR-w
TF e B Y

(@) ST HH HEl @ R FUA 2, HIH 1 H
el Bl B

(b) < FF G B, TR FUR 2, FOH 1 W
E TR e R

(c) e 1 WE R, Toheg oM 2 7Terd @

(d) FF 17Tad 8, fheg oM 2 98 8
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86. 3l GHIHI
_ (dy)?  [(ax)?
v=+(3) (%)
I ferft R wfe (371ER) Foven: = €7
(@ 1,2
(b) 2,1

(¢ 1,4

d 4,1

87. a & faaiua =4 W y2—2ay+x2 =a?
I 3{dehel HIHOT 1 87

(@ (x*-2y*)p?-4pxy-x2=0
(b) (x* -2y*)p? +4pxy-x> =0
(¢) (x%+2y*)p? -4pxy-x*=0
(d) (x*+2y%)p? —4pxy+x* =0

&

dy [
&l p = =2 B
2 dx

88. Iddhd WHIW ydx —(x +2y%)dy=0 I

A9 Tl 1 7
(@ x=y?+cy
(b) x =2cy?

(€ x=2y°+cy

(d) 3T A | B3 T
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84. What is the maximum value of the 86. What are the degree and order
function f(x)=4sin? x +1°? respectively of the differential equation
2
_ (dy\?  (ax
@ s =x(ot) (%) ?
(b) 3 (@ 1,2
<
(c) 2 (b) 2,1
1, 4
(d 4,1

85. Let f(x) be an indefinite integral of sin? x.

87. What is the differential equation
Consider the following statements : corresponding to y? —2ay+ x? =a? by
eliminating a?

Statement 1 : 5

(@ (x2-2y2)p2 —4pxy-x2=0
The function flx) satisfies ( ye et
=% fi 11 1 x.

flx+m = f(x) for all real x (b) (x2 -2y?)p2 +apxy-x2 =0
Stat t 2 %

al€men (c) (x2 +2y2)p2 _4pxy_ x2 — O

sinz(x+n) =sin? x for all real x. :
(d) (x?+2y%)p?% -4pxy+x2 =0
Which one of the following is correct in

D
respect of the above statements? where p = % )

{a) Both the statements are true and
Statement 2 is the correct

: 88. What is the general solution of the
explanation of Statement 1

differential equation

2 —
(b) Both the statements are true but ydx —(x +2y~)dy=07?
Statement 2 is not the correct
explanation of Statement 1 (@ x=y°+cy
(c) Statement 1 is  true but (b) x =2cy>

Statement 2 is false

() x=2y%+cy
(d) Statement 1 is false Dbut :
Statement 2 is true (d) None of the above

GRS-S-FDE/70A 31 [[P.TI0:
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8. w Wfifm F wh x ok y ¥ Tm 91. aqawwﬁwm[@]—a:omﬁw%?
Flety =100 SR, A £(5) Frk TR 7 dx
[SET f/(x), f(x) 1 SFahersl €7

fa) y=xe+c

@ f(8) 10

B 1610 0} =gese .
© £ 10 (€ y=-lnx+c '
(d) f(5)+f'(0) ([d) x=Iny+c

92. #H ShRIT B f(x) Frager Puffa ?

2x+1, -3<x<-2

90. R flx) IR glx), f¥)=fla-x 3N flo=1{x-1, -2<x<0
g+ gla-x)=2 H HgE FA a1 Hed x42, DeEel
HoH 8, dl j; F(o0) () dx TRE SR R?
g wem % wed § frfafad sl A @ ;
SH-91 T 87

(@ [ gldx

(@) 8 x =—2 T JNEA &, Al Tedh I
forg W g ®1

(b) [ flxdx
(b) F& Faa AW (- 3, — 2) H HdAd 2|

() 2 fladx () TE x=0W A 2, WA Tk a1
forg W wad 2|
(d) O (d) I8 YA forg W 316 2|
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89. Let f(x+ 1y = f(x) f(y) for all x and y. Then
what is f'(5) equal to [where f’(x)is the
derivative of f(x)]?

(@ f5f0)
(b) f(5)-r0
(c) f(5)f(0)

(@ [+ 0

90. If f(x) and g(x) are continuous
functions satisfying f(x) = fla—x) and
g(x)+gla-x) =2, then  what is

f; f(x) g(x)dx equal to?

(@ [ g(x)dx

(b) [] flx)ax

(c) 2 flxdx

(d 0
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91. What is the solution of the differential
equation

ln[dyj—a=0?
dx

(@) y=xe® +c
(b) x=ye* +c
fc) y=Inx+c

(d x=lny+c

92. Let f(x) be defined as follows :

2x+1, -3<x<-2
flx)=3 x-1, -2<x<0
X+2; O0<x<1

Which one of the following statements is
correct in respect of the above function?

(a) It is discontinuous at x =-2 but
continuous at every other point.

(b) 1t is continuous only in the interval
(-3, -2).

(¢) It is discontinuous at x=0 but
continuous at every other point.

(d) 1t is discontinuous at every point.

Bzuniel
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93. Ffdfaa weml w femm fif
1. 3% lim f(x) 3R lim g(x) A1 formm™

X—a

& @ lim (/) g} Fremm 21

2. 3f3 lim {f(x) g(x)} forrm 2, @

lim f(x) 3 lim g(x) I EW

X—a

ERCIER
I Al H H FA-E1/H W B/87
(@) Fad 1
(b) Fad 2
fc) 1 3 2 qHI

(d) T@M1L, A8 2

94. FMfafed el A @ FHA-AMTH AT TR, 7
& faum?

(a) = il
(b) x+§

x
fc) |x]|

(d) x2%(x-3
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95. log;( (5x2 + 3) I x &% W& Yesherst 1 87

x log,q e
5x2 +3

(@)

2x logig e

b)
( 5x2 +3 v

10x log,g €
5x2 +3

(c)

10x log, 10

(d)
5x2 +3

96. TF TR B fla) = 21 3|

a+1l

frfafas @ foem Hf

1. fRa)= fl@+1

2. £(3)--r@ ‘

IYE § A BH-E1/H WL 2/80
(@) Fad 1

(b) a2

(c) 13 23H

(d Fd@1, A2
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93. Consider the following statements :

1. If lim f(x) and lim g(x) both exist,
X—a

X=ra

then lim {f(x) g(x)} exists.
X—a

2. If lim {f(x) g(x)} exists, then both
xX—=a

lim f(x) and lim g(x) must exist.
xX—a X—a

Which of the above statements is/are
correct?

(@) 1 only
{b) 2 only
fc) Both 1 and 2

(d} Neither 1 nor 2

94. Which one of the following functions is
neither even nor odd?

@ x2-1

(b) x+§-
X

(c) |x|
(d) x?(x-3)

GRS-S-FDE/70A
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95. What is the derivative of log;, (5x2 +3)

with respect to x?

(@ xlog,p e
5x2 +3
(b) 2xlogip e
5x2 +3
(© 10x log;g €
. Bx® +3
() 10x log, 10
5x2 +3
a—1

96. Let fla)=——.
a+1

Consider the following :

1. fRa)=fl@+1

2. f(3)=r@

a

Which of the above is/are correct?

(a) 1 only
(b) 2 only
(c). Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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97. o Ti=a arel 99 o Tt (JFcrid) S ST HeRA

el B w1 SAfeRan e w1 RY

@ =2

b) %

@ —

el S

98. maﬁﬁqﬁﬁf(x)zm%%,aﬁxe(o, ) &,

4 fFrafafae & @ =9-w w6 w8 77
(@) f(x), S H Fea-sed @
(b) f(x), ¥¥av ¥ IdAE 3

(c) fl(x), U | GREWH

(@) T H T P T

99; e e B wed f(x) = x", n# 0 TTF x
% oy stawerE B, @ n TFE Saue 1 +E

e B Hohdl B¢
(@ [1, =)

(b) (0, <)
o (5
(d) 3IHH A Y g TE
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dx Toras e 87

In x
X

(@)

N w

(b)

[ SRNd)

) 3

(d) 4

101. 20 Y&0 1 T 5 B AR TAF Ve H 3 Y

Ton TR e, A aRomd Yet w1 A gE
ERIRUI

(@) S
{b) 10
(c) 15

(d) 45

102. 100 &l & T HYR H W 20 TH §A1|

9. W U8 9 T TR =R Yavl el 9, e
21, 21, 18 3R 20 & fer w0 o Al
Terd VUil h1 VIS Ty U, O WA F1 RY

(@) 18
(b) 20
{c) 21

(d 22

e
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W i . 2 1
97. What is the ma?clmu.m are‘a of a tcnangle 100. What is Ie-l nx dx equal to?
that can be inscribed in a circle of e X
radius a?
: 3
(@ —
3a? e
a —
(@) 7
5
2 ) >
] B
" 2
(c) 3
3/3a?
: (c) o
(d) 4
(@ J3a?
4 101. The variance of 20 observations is 5. If
each observation is multiplied by 3,
then what is the new variance of the
98. Let f(x)=x+-, where x€ (0, ). Then resulting observations?
X
which one of the following is correct? (@ 5
(a) f(x) fluctuates in the interval (b) 10
(b) f(x) increases in the interval el 18
i (c) f(x) decreases in the interval (d) 45

{d) None of the above

102. The mean of a group of 100 observations
99. Suppose the function f(x)=x", n# 0 is was found to be 20. Later it was found
that four observations were incorrect,
which were recorded as 21, 21, 18 and
20. What is the mean if the incorrect

differentiable for all x. Then n can be
any element of the interval

(@ [1, ) observations are omitted?
18
(b) (0, =) o
(b) 20
1
@ (=)
) 21
(d) None of the above (d) 22
GRS-S-FDE/70A 37 [ P.T.O.
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103. < geul &R &1 Afgenst # A q Akl B 106. < 7P w2l A @R B & fag @8 fear mn

Al a= i s B\ o wilysar @ T afufa § 2 % Pa=0-2 3 PB)=0.5 2 3R
herd AgaAd &t ? Ac B3, A gufasy wieaisdt P(A|B) 3R
1 P (B|A) % |H H: F1 27
o) & g 5
| @ 5%
1
(b) — 9
2 () %, 1 5
1
fef = 2
2 (@ 1 % )
(c) % (d) FE oty 3

. Tt 99 & < |
104. &= frenfit A, B sk ¢ #1 Tk W far 10% T & TR T g Twfo® =9 4 W

- ST ® 1 wikERd § 6 9w fg swogm A
e SRR Shrre i <01 e 3a % 3 it Wi A7
) %afﬂa-%‘lwmﬁw%%srﬂﬁ%‘l

. @ =
1IN 5
1
@ 5z Blcs
i
o 3
1
3 (d) 5 ’
(c) 4
gy =8 108. 4f 4y-15x+410=0 i '
24

30x - 2y- 825 =0 H=E (x) 3R ¥R (y) &
o= @ wEEE g §, @ S R IR F
105. freft wan & 150 fornfiE @1 wiea 95 60 kg +f= HewrsRY TOT 1B

2| FaT ¥ SH F ALY 94 70 kg B R @ 1
TSI 1 55 kg €1 HET T TSH] hl HEAT 3

fopat 87
e ®

(@ 50
(b) 55 © 2
' 3

(c) 60
@ >
(d) 100 4
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103. A committee of two persons is constituted 106. For two dependent events A and B, it is
from two men and two women. What is given that P(A)=0-2 and P(B)=0-5. If
the probability that the committee will AcC B, then the values of conditional
have only women? probabilities P(A|B) and P(B|A) are

respectively
(@ * > 3
6 g At
1 (@) = =
() = 2
3 B = 9
v v) 5
1
el = 2
c) 1, —
2 (c) =
' 2
(d) 3 (d) Information is insufficient

107. A point is chosen at random inside a

104. A question is given to three students A, 2 . e
S & circle. What is the probability that the

B and C whose chances of solving it are

1 1 1 _ ] point is closer to the centre of the circle
2 3 and 7y respectively. What is the than to its boundary?
probability that the question will be (@) L.
solved? 5
1 ()
a ey
@ >4 4
1
1 s
(b) = (c) =
1
3 d -
L (&)
e = 2
(d) 23 108. If two regression lines between height (x)
‘ 24 and weight (y)are4y- 15x+410=0and
30x -2y-825=0, then what will be
105. The mean welght of 150 students in a the correlation coefficient between
certain class is 60 kg. The mean weight height and weight?
of boys in the class is 70 kg and that of 1
girls is 55 kg. What is the number of (a) 3
boys in the class?
1
@ 50 L
(b) 55 ) 2
3
60
(c) i 3
(d) 100 <
GRS-S-FDE/70A 39 ; [ P.T.O.
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109. Fre when & 40% sr=ffal 3 fdrm 2oft wmw 112. 9 =v Ugferd &9 9 stamfig &, 1 Frafeiad

| g fHS B T ARG (W TE) H e wreral § A FH-T1 U el 87
Frefia forn T ?, @ T Aoft % W@ ww
1 AH R 87 (a) 2 x A fom@d = 5 x sfieq foeem
(@ 4 (b) 90° : (b) 5 x AFE fa=em = 2 x 3w fa=eH
@ 144° (d) 320° | (c) 4 xTHF fq=em = 5 x i@ fa=eH
(d) 5 xWHF fomer = 4 x slea faeen ¥
110. Frafifaa se ® fer AR 1
T 1 113. F=fafaa 9 3 fra w9 0 39 & ygga T 0
. Hehar R7
W, YRET0 %1 U FA=ST 7Y T 8 N SR
HYA 2 2. WRUEE &9
W, wH AET % e ¥ Wgd i 3. AT w9
ST grell B | W a sl s
Sug syl & e A frfafea # @ wE-m (@) @ 1R 2
- Fae 2 AR
b 2 3R 3
(@ F9 1 3R FH 2 JA T T IR (v
YA 2, FHYF 1 F &l TIEHU 7 (c) Faa 133
(b)) FA 1 IR w2 | WA E, AR (d) 1,23r3 '

FUA 2, FUA 1 F1 TE TEH TE B

(c) H 1 T R, ARFT FHoH 2 e 7 v, P e e T
(d) FA 2 FE §, AT FEH 1 Terd B ¥F T ofR afemeg ¥ it % fow o o=
g ¥ ARk @ 9wt w1 g g PR, @
farg P W, Fes waf % e mdt § @

111. 3731 @& ¥ Hd T 52 UKl h AYRO AT H-91 T 1 27
ww TE A A T aen Fepren S ¥ 39 96 Al
w1 Wi & T 97 3o 7 (a) TR
1 2
@ 75 v Ll
(c) dSgeTd
3 1
@ == @ = (d) TR T
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109. In an examination, 40% of candidates 112. If the data are moderately non-
got second class. When the data are " symmetrical, then which one of the
represented by a pie chart, what is the following empirical relationships is
angle corresponding to second class? correct?

(a) 40° (b) 90° (@) 2 x Standard deviation

= 5 x Mean deviation
fc) 144° (d) 320°
(b) 5 x Standard deviation

. = 2 x Mean deviation
110. Consider the following statements :

Statement 1 : (c) 4 x Standard deviation

; = 5 x Mean deviation
Range is not a good measure of

dispersion. (d) 5 x Standard deviation

Statement 2 = 4 x Mean deviation

Range is highly affected by the

: 113. Data can be represented in which of the
existence of extreme values.

following forms?
Which one of the following is correct in i
respect of the above statements?

Textual form

2. Tabular form

(a) Both Statement 1 and Statement 2 3. Graphical form
are correct and Statement 2 is the

) Select the correct answer using the code
correct explanation of Statement 1

given below.

(b) Both Statement 1 and Statement 2 (a) 1 and 2 only
are correct but Statement 2 is
not the correct explanation of
Statement 1 ¢/ 1 and 3 only

1, 2 and 3

(b) 2 and 3 only

(c) Statement 1 is correct but (@)

Statement 2 is not correct
114. For given statistical data, the graphs for

(d) Statement 2 is correct but less than ogive and more than ogive are
Statement 1 is not correct drawn. If the point at which the two
curves intersect is P, then abscissa of
111. A card is drawn from a well-shuffled point P gives the value of which one
ordinary deck of 52 cards. What is the of the following measures of central
probability that it is an ace? tendency?
1 0 fa) Median
(@ — b —=
13 13 (b) Mean
1 (¢) Mode
(c) @ = , ;
13 52 (d) Geometric mean

GRS-S-FDE/70A 41 _ [P0,
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115. Tefefad suei w e fif . 118. 3t 41 3@ 9@ HF 4 ¥, D Fm wikewar R

1. A = yreafer &9 @ eqaiia €, Al A A @ 8 8, 7§ 97
T AT 1 bied g1, GOl HeAT % Hied 1
B ) Akt 21 C
2. @ YRWNR ®q W AuafSia Al % )
i R wReedr, IR g @ %
TTRreRareTl % AT % SR B .
3
I et i & FA-E/A _Eh R/ © =
(a) Had 1 5 :
@ =
(b) HaA 2 6
(c) 1 3R 2 31
(@ 1,482 119. 9@ Wit % A 3R B <1 9rwfis gafsia

e 8, el P(A):é 3R P(B)=4l Bl
116. Ifd x F y W A y F x T THIR 0N

P(A ~B) % 9H #1827
pual: _%aﬂx_é%,?ﬁxaﬁxﬁaﬁa

HEdE oI H1 7 | " é

@ -1 ® - ® 5

@ @ 5 © 5 '
117. 5 Y&l % U Wiiel &1 WeA 32 91 HIfewH (@) ng |

33 21 918 A ¥ I T4 o6 ue Yo erdi |
35 % TYM W 40 & L o m o1 afe &
ad ) % w8, 9 Freafafea 7 @ SE- 120. TrHt f5ug svea 1 A1eg 3R oA fomes s

el 87 12 3R 2 2| AP (qheen) g
(@) W R e 98 = A Gl
(b) WS a6 WA R, By we wm R (@) 2

el (b) 12

(c) Wed 3R HiERR A1 %9 | 9 §

(d) e g WA g, T W R
STl @ (d) 24

fc) 18
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115. Consider the following statements :

1. Two events are mutually exclusive
if the occurrence of one event
prevents the occurrence of the
other.

2. The probability of the union of two
mutually exclusive events is the
sum of their individual
probabilities.

Which of the above statements is/are
correct?

{a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

116. If the regression coefficient of x on y

and y on x are —% and ﬁ% respectively,

then what is the correlation coefficient
between x and y?

1 1

(a) 4 (b) 16
1 1
(c) 16 (d) 2

117. A sample of 5 observations has mean 32

and median 33. Later it is found that an
observation was recorded incorrectly as
40 instead of 35. If we correct the data,
then which one of the following is
correct?

fa) The mean and median remain the
same

(b) The median remains the same but
the mean will decrease

() The mean and median both will
decrease

(d) The mean remains the same but
median will decrease

GRS-S-FDE/TOA
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118. If two fair dice are thrown, then what is

the probability that the sum is neither 8
nor 9?

@ <
® 5
© >
@ 2

119. Let A and B are two mutually exclusive

events with P(A) = é and P(B) = Zl What

is the value of P(A nB)?

(@ —
®
© %
@ =

120. The mean and standard deviation of a

binomial distribution are 12 and 2
respectively. What is the number of
trials?

(@) 2
(b) 12
(c) 18
(d) 24

[ P.T.O.
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1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.
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